SHOWN WITH
CAP REMOVED

1
SK-1-24868

1
SK-3-24806

1
8-7335
s 9 SK-3 224805
) -3-
3 | Q;J»
i o
[
e 5
8-7681
2
SK-3-24808
4
8-7682
[ @@
Parts List

UCFS | QTY PART # DESCRIPTION

1 |7-30743 BOX,20 X8 X 4

1 |SK-1-24868 |SCREEN STAR, HD, 0.65X, GT-100

1 |SK-3-24804 |[MOUNT, PLATE, GT-100

2 |SK-3-24805 |MOUNT, SLIDE, GT-100

1 |SK-3-24806 |MOUNT, COLLAR, GT-100

2 |SK-3-24808 |GUIDE PIN
UCFS 1 |8-7335 M3-0.5x10, SS304, SCREW, SHC
UCFS 2 |8-7681 M4-0.7x6, SS304, SCREW, SHC, FP, HEX
UCFS 4 |8-7682 M4-0.7x12, SS316, SCREW, FH, FP, PHLP

REVISION HISTORY

REV | DESCRIPTION | DATE

[ DRBY [ CHBY

0 | PROTOTYPE

[08/14/2014] CJH [ BJC

\/‘\/

NOTE:

MOUNT WILL NOT BE ASSEMBLED
PARTS AND HARDWARE WILL BE

PACKAGED TOGETHER

LENS WILL BE LEFT IN
ORIGINAL PACKAGING

1
SK-3-24804

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
AND INCLUDE CHEMICALLY

APPLIED OR PLATED FINISHES

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
NAVITAR. ANY REPRODUCTION IN PART OR AS A WHOLE WITHOUT THE WRITTEN
PERMISSION OF NAVITAR IS PROHIBITED.

SCALE: 1:2

WEIGHT: 13.23 Ibmass D NN”@]R
DR BY: C. HATCH ROCHESTER, NEW YORK

CH BY: BJC

PROJECT #: E3220 MOUNT, ASSEMBLY, GT-100
DATE DR: 06/27/2014

DO NOT SCALE DRAWING

&g

SZE[ SK-1-24803 |

B SHEET 1 OF 4 0




|« 3.94 [100] —=

8.00 [203.2]

3X @.228 ¥ 1.000
L_1@.482
FROM OPP. SIDE

SHOWN WITHOUT LENS

le——5.25 [133.3] —— ==

| —@4.38 [111.2]

4.63[117.5] AT
NOMINAL

OUTLINE

le—3.94 [100] —» 8X M6x1 - 6H
_ _ 4
6.42 [163] 7#— - - L | 3.94[100]
(
l-———5.93 [150.6]{
le——4.80 [121.9] 2.44[62]
19.60 [497.8]
’-74.74 [120.3] —=|
FROM NOMINAL, SLIDE
MOVES 5mm UP AND
30mm DOWN \
-~
°
' 7.06 [179.4]
AT NOMINAL
33[8.5]
I ]
14.45 [367.1] 4.32 [109.8] =
SCALE 1 / 3 UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES [MM]
AND INCLUDE CHEMICALLY
APPLIED OR PLATED FINISHES

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
NAVITAR. ANY REPRODUCTION IN PART

DNINITAR

SCALE: L2| S oy e e ROCHESTER, NEW YORK
WEIGHT: 13.23 Ibmass 0.0 inch 1.0

DR BY: C. HATCH MOUNT, ASSEMBLY, GT-100
CHBY: BJC 00 mm 250

PROJECT #: E3220| DO NOT SCALE DRAWING | SIZE SK-1-24803 REV
DATE DR: 06/27/2014 @ g B SHEET 2 OF 4 O




AFOCAL MAGNIFICATION = 0.6499X
PRIME LENS FOCAL LENGTH = 44.0 mm
PRIME LENS F-NUMBER = 1.80
OBJECT AT INFINITY

5.90 [149.8]

5.61 [142.4]

25.80

[147.3]

ONNITZR g 1D

2.95 [74.9]

le— 18 [4.4]

IMAGE DIAGONAL = 29.0 mm (1.142 inches)

EXIT PUPIL DISTANCE = 70.0 mm
EXIT PUPIL DIAMETER = 24.468 mm

M95x0.75 - 6g

SCALE1:1

©4.37 [111]

LENS ONLY
SHOWN WITH REMOVABLE
MOUNTING BRACKET
REMOVED

OUTLINE

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES [MM]
AND INCLUDE CHEMICALLY
APPLIED OR PLATED FINISHES

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
NAVITAR. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN

DNINITAR

ROCHESTER, NEW YORK

SCALE: 1:2 | PERMISSION OF NAVITAR IS PROMIBITED.

WEIGHT: 9.62 Ibmass 0.0 inch 1.0

DR BY: C. HATCH SCREEN STAR, HD, 0.65X, GT-100
CHBY: BJC 0.0 mm  25.0

PROJECT #: E3220| DO NOT SCALE DRAWING | SIZE SK-1-24868 REV
DATE DR: 08/29/2014 @ g B SHEET 3 OF 4 O




le——4.80 [121.9] —=|

2.44[62]

12.36 [313.9]

8.00 [203.2]

4.75[120.7]

Ex s - 153
% O 4.78[121.3]
0
12.16 [309] 7.44[188.9]
(NOM) (NOM)
1.36 [34.6]
(NOM)
i I I i
1.73 [43.8]
(NOM)
SCALE1/3

?5.80 [147.3]

J

A\

7.53[191.2]
(NOM)

4.63[117.5]
(NOM)

OUTLINE

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES [MM]
AND INCLUDE CHEMICALLY
APPLIED OR PLATED FINISHES

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
NAVITAR. ANY REPRODUCTION IN PART
OR AS A WHOLE WITHOUT THE WRITTEN

DNINITAR

ROCHESTER, NEW YORK

SCALE: 12| PERMISSION OF NAVITAR IS PROHIBITED.

WEIGHT:  13.23 Ibmass 0.0 inch 1.0

DR BY: C. HATCH MOUNT, ASSEMBLY, GT-100
CHBY: BJC 0.0 mm  25.0

PROJECT #: E3220| DO NOT SCALE DRAWING SK-1-24803 REV
DATE DR: 06/27/2014 @ g SHEET 4 OF 4 0




